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p ||200 | GA | 000 | 0000 (sec)
1] 1389 | 1389 - 0.072
2 || 1061 | 1061 - 0.094
3 968 | 987 | 1.9600 0.141
4 846 | 846 - 0.203
5 779 | 779 - 0.329
6 726 | 726 - 0.375
7 708 | 708 - 0.5
8 691 | 691 - 0.594
9 682 | 692 | 1.470 0.594
10 680 | 682 | 0.290 0.735
11 669 | 669 - 0.687
12 691 | 691 - 0.719
13 691 | 691 - 0.624
14 690 | 690 - 0.637
15 690 | 690 - 0.572

p | Optimal | Best | Worst | BestError | WorstError
5 5703 5703 | 6062 0.000 6.290
10 4426 4440 | 4607 0.320 4.090
15 3893 3898 | 3973 0.130 2.050
20 3565 3566 | 3583 0.030 0.500
25 3291 3298 | 3303 0.210 0.360
30 3032 3038 | 3050 0.200 0.590
35 2784 2787 | 2796 0.110 0.430
40 2542 2544 | 2558 0.080 0.630
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